
75 1100 125

1300

1650

5:1

165
0

130
0

1300

687

66

30°

40

5:1

10 11

12

42
00

42
00

42
00

42
00

5500
5500

5500
5500

5500
5500

5500
5500

5500
5500

5500
5500

5500
5500

5500
5500

5500
5500

5500
5500

5500
5500

5500
5500

5500
5500

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27

E

A

B

C

D

5840

12
3

5500

GL

5500 5500 5500 5500 5500 5500

6000+5500x24+6000=144000

5500 5500 5500 5500 5500 5500 5500 5500 5500 5500 5500 5500 5500 5500 5500 5500 5500 5500 5500

25
00

18
00

20
00

20
017

00

500 500

A E-
3

4
6

7

8

L=2045 L=2045 L=2045 L=2045 L=2045 L=2045 L=2045 L=2045 L=2045 L=2045 L=2045 L=2045 L=2045 L=2045 L=2045 L=2045 L=2045 L=2045 L=2045 L=2045 L=2045 L=2045 L=2045 L=2045 L=2045 L=2045 L=2045 L=2045 L=2045 L=2045 L=2045 L=2045 L=2045 L=2045 L=2045 L=2045 L=2045 L=2045 L=2045 L=2045 L=2045 L=2045 L=2045 L=2045 L=2045 L=2045 L=2045 L=2045 L=2045 L=2045 L=2045 L=2045

6000 5500 5500 5500 5500 5500 5500 5500 5500 5500 5500 5500 5500 5500 5500 5500 5500 5500 5500 5500 5500 5500 5500 5500 5500 6000

L=
21

25

L=
21

25

L=
21

25

L=
21

25

L=
21

25

L=
21

25

L=
21

25

L=
21

25

L=
21

25

L=
21

25

L=
21

25

L=
21

25

L=
21

25

L=
21

25

L=
21

25

L=
21

25

L=
21

25

L=
21

25

L=
21

25

L=
21

25

L=
21

25

L=
21

25

L=
21

25

L=
21

25

L=
21

25

L=
21

25

L=
21

25

5

400

17*78*1 Array  Front View

MM

Proj Name
案件名称

Proj N0.
案件编号

 Design Standard 
设计标准

Snows
积雪量

Module Orientation
安装方向

 Module Dimension
组件尺寸

 Mod`ule Quantity
组件数量

 Power Capacity
总功率

Wind Speed
风 速

 Tilt Angle
倾斜角度

共     页     第     页
Total page page Unit

单  位
G Roughness
地表粗度

Designed by
设   计

Reviewed by
审  核

Rev.
修改版次

Design Date
设计日期

Scale
比  例

Approved by
批  准

Checked by
校   对

Design Company:
设计单位：

Xiamen FarSun Technology Co., Ltd

1 Austria-451.2kw2 3 4 5 6

7 8 9 10 11 12

End Clamp Middle
Clamp

Hex Bolt
M12*80

Hex Socket
Bolt M10*25

Hex Bolt
M12*70

Hex Bolt
M12*85

Hex Bolt
M12*40

Hex Bolt
M10*30

Hex Bolt
M10*30 Hex Bolt

M10*30 Hex Bolt
M10*35

Hex Bolt
M12*35

Hex Bolt
M12*30Hex Socket

Bolt M10*25

Hex Bolt
M12*70

Hex Socket
Bolt M10*25

Hex Bolt
M12*70

Hex Bolt
M12*70

Hex Socket
Bolt M10*25

Hex Bolt
M10*25

311.61KW

235W

9M/S

30°

1326

1650*992*40

21CM

PORTRAIT

FS0524022001

V1.0

1:100
A412

2024-02-23

FS-Support 30°-1P    Side View    Scale   1:1

68 17x992 25

4500+4200x2+4500=17400

4500 4200 4200 4500

300 4200 4200 4200 4200 300

L=4280 L=4280 L=4280 L=4280

GL 1 27-

1 2

9



75 1100 125

1300

1650

5:1

165
0

130
0

1300

687

66

30°

40

5:1

10 11

12

L=4280 L=4280 L=4280 L=4280 L=4280 L=4280

GL

100 25x992 25

4400+4200x4+4400=25600

4400 4200 4200 4200 4200 4400

200 4200 4200 4200 4200 4200 4200 200

1 9-

1 2

9

E

A

B

C

D

F

G

1 2 3 4 5 6 7 8 9

42
00

42
00

42
00

42
00

42
00

42
00

5500 5500 5500 5500 5500 5500 5500 5500

31
50

1075

(25*24-6)*1 Array  Front View

FS-Support 30°-1P    Side View    Scale   1:1

MM

Proj Name
案件名称

Proj N0.
案件编号

 Design Standard 
设计标准

Snows
积雪量

Module Orientation
安装方向

 Module Dimension
组件尺寸

 Mod`ule Quantity
组件数量

 Power Capacity
总功率

Wind Speed
风 速

 Tilt Angle
倾斜角度

共     页     第     页
Total page page Unit

单  位
G Roughness
地表粗度

Designed by
设   计

Reviewed by
审  核

Rev.
修改版次

Design Date
设计日期

Scale
比  例

Approved by
批  准

Checked by
校   对

Design Company:
设计单位：

Xiamen FarSun Technology Co., Ltd

1 Austria-451.2kw2 3 4 5 6

7 8 9 10 11 12

End Clamp Middle
Clamp

Hex Bolt
M12*80

Hex Socket
Bolt M10*25

Hex Bolt
M12*70

Hex Bolt
M12*85

Hex Bolt
M12*40

Hex Bolt
M10*30

Hex Bolt
M10*30 Hex Bolt

M10*30 Hex Bolt
M10*35

Hex Bolt
M12*35

Hex Bolt
M12*30Hex Socket

Bolt M10*25

Hex Bolt
M12*70

Hex Socket
Bolt M10*25

Hex Bolt
M12*70

Hex Bolt
M12*70

Hex Socket
Bolt M10*25

Hex Bolt
M10*25

139.59KW

235W

9M/S

30°

594

1650*992*40

21CM

PORTRAIT

FS0524022001

V1.0

1:100
A422

2024-02-23

GL

5500 5500 5500 5500 5500 5500 5500 5500
25
00

18
00

20
00

20
017

00

500

3
4

6

7

8

L=2045 L=2045 L=2045 L=2045 L=2045 L=2045 L=2045 L=2045 L=2045 L=2045 L=2045 L=2045 L=2045 L=2045 L=2045 L=2045

L=
21

25

L=
21

25

L=
21

25

L=
21

25

L=
21

25

L=
21

25

L=
21

25

L=
21

25

L=
21

25

5

500

6000 5500 5500 5500 5500 5500 5500 6000

6000+5500x6+6000=45000

A G-

400



Solution Details
Austria-451.2kw

NO. Product Name
17 R 25 R

Project Qty Unit Spare parts Total Qty Remark78 C 24 C
1 Set 1 Set

1

FS-Support 30°-1P

CBeam 100*50*15*2.5-6000mm 10 14 24 PCS 1 25

2 CBeam 100*50*15*2.5-5500mm 120 42 162 PCS 1 163

3 Pillar 100*50*15*2.5-2125mm 135 63 198 PCS 1 199

4 Pillar 80*40*10*2-2045mm 260 112 372 PCS 1 373

5 CBeam 56*107*3.0 Splice -200mm 135 63 198 PCS 1 199

6 CBeam 57*100*3.0 Splice -200mm 135 63 198 PCS 1 199

7 Hex Bolt M12*30+LT2P Kit 1080 504 1584 SET 10 1594

8 Hex Bolt M12*35+LT2P Kit 270 126 396 SET 4 400

9 Hex Bolt M12*80+LT2P Kit 270 126 396 SET 4 400

10 U Shaped Connector-48*70*3.0-150mm 520 224 744 PCS 4 748

11 Hex Socket Bolt M10*25+LT2P Kit 1040 448 1488 SET 7 1495

12 Hex Bolt M12*70+LT2P Kit 520 224 744 SET 7 751

13 Steel L Foot Base Set-60*100*5.0-120mm 270 126 396 PCS 2 398

14 Hex Bolt M12*40+LT2P Kit 270 126 396 SET 5 401

15 Hex Bolt M12*85+LT2P Kit 270 126 396 SET 5 401

16 Steel Tripod Set-50*50*4.0-1300mm 780 336 1116 PCS 6 1122

17 Steel Tripod Set-50*50*4.0-687mm 390 168 558 PCS 3 561

18 Hex Bolt M10*30+LT2P Kit 1560 672 2232 SET 15 2247

19 Hex Bolt M10*35+LT2P Kit 390 168 558 SET 5 563

20 C Rail  80*40*10*2.0-4500mm 312 0 312 PCS 1 313

21 C Rail  80*40*10*2.0-4400mm 0 96 96 PCS 1 97

22 C Rail  80*40*10*2.0-4200mm 312 192 504 PCS 1 505

23 C Rail 50*60*3.0 Splice -200mm 468 240 708 PCS 1 709

24 C Rail 50*60*3.0 Splice -100mm 312 96 408 PCS 1 409

25 Hex Bolt M10*30+LT2P Kit 3276 1488 4764 SET 24 4788

26 U25 Middle Clamp 40 Kit（C） 2496 1140 3636 SET 15 3651

27 End Clamp 40 Kit（C） 312 96 408 SET 4 412

28 M10 Diagonal Bar -4280mm 216 108 324 PCS 1 325

29 Hex Bolt M10*25+LT2P Kit 432 216 648 SET 6 654

30 Ground Screw 76*2000（F200） 135 63 198 PCS 1 199


	【SOLUTION】Austria-451.2kw-FS0524022001-2024.2.2301
	【SOLUTION】Austria-451.2kw-FS0524022001-2024.2.2302

